&l

TR

CSAT TehUT 93 : 50

A% : 1 a™ TeRUT 70T = 125

5)

6)

7)

8)

9)

-1
T BTICTAT TIAYIEThT ShHTeh TUTAT ITUThar TafiTe Sft STRufrehatiel FEvMT 7 foetar g UEr.
e YeAYfEashd 50 AT T9H 3TTed. IHGIRIHT T IW fetfevams geara swtwarge an yegfeaehd
TE Y IR fehal TG AT W e TG ST THE 3T FIE Q¥ IEBAE g T

I TR -ShHTH BT SehIATd STeTd=H foTgra. aews] [ ] [ 1 [ 1 T |
T JEGfEdehd e Sesh TEATCT 4 TR I gafael! STE =M 1, 2, 3 3T 4 37 T feoiel 3.

T IR ITUURT Fald AT T ShHTh ITUITharicl FETHTI THZAT IqTULIhal THg hral. 37
TehR ITATHha ITGHATSH TG HLAMT I HEfId ITshHThTEIHI STATIhd HEd Gl TSt AT hessit
TS, TRl el Shieodl IS STeTuA aTuTd.

o fermamaTdt Tt SRieR Suett wemm fafda Setet MR, @ farvamen yeie wee widt sRieR sl WA
forTet fAmioT SrTeaT=it IRt ST, SHEANH HE e U9 U=l WISt S99 arg ugre.

ITRATAhd Tehal TG holel ST @IEAT AUR ATEl. TG hotel ST @Igd T I fEeamd o qumeet SR
ELIR

& YT G T ATed. ARAd T ST I AT, S5 Il BV ATa AT Gl S I
forer e yeA HrgaTe.

HA. ST AT ITULIhA ASfrciean Tl Jehiean ITETst Uk Fataist 0T Il Fuard Ader .
yegfEaened fafad shetean fafdre Srfar w2 ®M (6 a) .
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GTosics IART T ATER TR i€l 3% aT. (. 3. 1 d 5)

FATAT TR T SIFTcTeh HAARAT 8T TTTANT SIFTTh FIRd = ¥y TE oS!
IR 1. g2 Aifud e e difeud JREHaR v i hagacr sowe
% T TEVERT AR 3. 1991 HaR<AT ASTehrd MfOT JRENITIsd FTaRId Ioie HRTR 8
TEVART . 1990 T THHMAT JHATATAT Hlld Teh A TIUART g A, df =ZoTsl
SRRSO, BT STSHART 3TUHh AT TUTET BidT. 1991 Tl B JSTehld, ATHISTS,
ANILSTT AR FIGEEST TUIH FHIATT STPIARIHROT BT FEWIT Il

STRTTAehIehROTNES 30T Sadl d=l WRERET Seadedl SPlde Faye s A9 Siod
L. AT FRYST AFAAHAIG [ShTaT=T Hed 8id. 39T, IReIS Aelearadrd fhar [Serdierd
2T GUITATST ST AT W2 9T IdTd. ad SIedTesT Ma-afoiizy sufor gefeaizi st
HIVTATET AT =egary fhal AEGaR AdTe ATIdT Iar. e EeR 31T SATIRI=AT
e TEIG 986 o o IdTd. HIRATT $o5 M7 Thes IR, MRkl Fad gdmd, a)
IRA TTRYST IR, SERET fhar S-=ReAT 22T IEhioaiit avq JdTd.

SFTTAhIhROT MY STTOT ASTAIS Bk THHBIBT SIS 3Mad. SPITd TETET 3ol grom=ar
AT GERIhe T TSdMT (ST Idl. AT ISGhe 0T A TDhi ATad. THAT 3T ITE,
T ST 3MYOT ST UTdsia? ThHSRR STed HST TS, dl IS IS ded HHl 5P
el ThagT, JIPATRIA AT W@ A ATe. el dodiedT A, TAA AT ALIMAT AZET
THHGBIAT ST IS 3. AAM, P AT d9d ATTHR FATAT Hhedd=T 31T
A= IEZRSIG) 311% ARTRY HHTST AT foPR Irstehrar 31f¥rend Haronr) e ST, 3T ATHTTST
TS ST AT FHRATER WX IATd, AT JIPTeAT AT B8 AP ATdeslas Hrd Heard.

AT BT TTFIRYAIS Teh AedTdl °cdh 3e. JART 9T Aigaardr IR 3Td. Higdol
ATV IARTET IYRTY FAT Id. ITRTHH STl YU & hacd ARHRI ITdesiasd
q%a? G ?H>|Iq\"| czesuco BT 9. RAT Hu=T g% <3 gdqugah hedTa TRl aTe
ATGT. ST I, 2TeT fohaT RSME=T IREAT WPl U7 qRATad Jeg a3 SHR, =0, e
T AP IWIS I[dIUEH HRATd. ONGC ARTAT TRBRT ST IEI IR AT hdld. aud
3T TR HIAT AR gdqugzh A ST, El gdqugzh Wﬁwa@?mﬂ?ﬂﬁ 373
<;|-s| 2PN Gkl |q+g1 . q<q<>|| U RATd [9Hd, NS Whed WW
HA 3R, ATTERISR HehgHes, TIR-ThT, [Ugeiee ARSAT Hu=aT AEhaanit &1 Jaavs wd
3.

1990<AT S3THIYAT 3TN AT AU FaraId &id rdl. ATl TRBRT HEHi<r Tgures 2.
T IS AT X AT 3Ted. & 98 Il SR heRl@<dl HREMT, FATZeS [hieH ONGC faear
5., TRTAH™ ARhINTYE, IR = 3UNT, HRd HRATAIG URehd I[davlehidl 3Tl oTs|
ST JAqUhTdT HThaaR 3. HiSTo! Jdav[d HRAT URSZNd 0T YRS HIRATd Gl
IO BT, R ® TS [Jhaiie AP AR, IRATST 96T Araegrarsr sanT dame e
S[ATOLRIET IRST 3MTE. HRATEAT L3I ITdcslaRie Jdaulenlal T FaTaT 3Ted. T =30
S RSl 3R,
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Read the following Passage and answer the questions. (Q. no. 1 to 5)

It was during the Kuwait crisis that the term ‘New World Order’ was used to describe the
nature of world order. After the disintegration of the Soviet Union two terms came to be used:
‘post-Soviet world order’ and ‘post-cold war era’. All these terms described the political and
security situation that evolved after 1991. In the early 1990s another term started to be used.
The term was ‘globalisation’. Unlike the earlier terms the term globalisation was broader based. It
included the nature of economic, ideological, political, technological, social and cultural changes
that took place in the world after 1991. Today we use the term globalisation to describe the
post-cold war era.

When we talk of globalisation, we say that the world has become more interconnected.
Technological developments have helped this interconnectivity. For example, online applications
can be made for admission to any college or university abroad. Similarly, mobile calls or WhatsApp
messages can be made from any part of the world to your friends and family. Changes have taken
place in economics and trade. Indian fruits and flowers are exported to Europe and America,
various consumer goods from Europe, America or China are available in the Indian market.

Globalisation increased interconnectedness among countries and people and events in one
part of the world have an impact on other parts. There are various ways of looking at this
change. One argument is that while interconnectedness has increased, the importance of the state
structure has not declined. In fact, the concept of nationalism is still very much alive. Some feel
that economics and technology are key factors that have brought the world together. They argue
that the concept of sovereignty and jurisdiction of states is now being challenged. There are
others who give importance to the civil society and non-state actors. According to them social
movements cut across state boundaries and focus on humanitarian problems of the people.

Investment is an important aspect of the economic system. Industries need finance.
Investments help to build industries as they provide finance. Investments are done by both, the
government and the private sector. Today you may have read about how Indian companies are
investing in foreign countries. Private companies like Tatas, Reliance, etc have invested not only
in India but in various industries in America, Europe, Africa and other places. Even government
companies like ONGC have made investments abroad. Similarly, a lot of foreign companies are
investing in India. These investments take place in both infrastructural sector and consumer
sector. Foreign companies have invested in building airports, nuclear power plants, etc. in India.
They have also invested in consumer food chains like MacDonald’s, Burger King, Pizza Hut, etc.

Prior to the 1990s such investments were rare. There used to be several governmental rules
that made investments difficult. This has now changed. This change is looked at as free flow of
financial capital. This capital flows both ways, from India to foreign Tata’s Jaguar Land Rover in
UK ONGC Videsh Ltd, Vietnam Microsoft in India Nestlé in India Examples of Foreign investments
in India countries and from foreign companies into India. India is a developing country; it needs
financial investment in industry for its development. There are limitations to domestic financial
investment in India. Therefore, foreign investment is always welcome.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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1.  WTHIBUDT HIUTT TEUANT 1991 FaR<AT ISTehrar 0T IJRENITIH SR FoI FHRoATATS!
RS I

(3T) TII STOTTdeh ST (&) STITTTehIehRoT

@) Af=ud AR T @) NALETR FOES
T

(1) 31, 9, h (2) 3T, &, €

OER (4) TISTHr I
Which of the following terms described the political and security situation after 1991?
a) New world order b) Globalisation

c) Post Soviet world order d) Post cold war era
options:

1) a, b, c 2) a, ¢, d

3 c d 4) all of the above

2.  BEHRAT 7 SINTARIRROTE B RO T STad?
(31) IF AT APTATSG Bieh THABIZN SIS I3,
@ T FRIY HET HUT .
@) TETAT ITETHHATAT T AT ST,

e pID)
(1) %h 3 2) I, &
(3) 9, ® (4) TFURT T

What are the effects of globalisation according to the author?
(a) It increased interconnectedness among countries and people.
(b) It declined the importance of the ‘state’.

(c) It challenged the sovereignty of the state.

Options:
(1) only a (2) a,
(3) b, ¢ (4) all of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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3.  WIolaUs ARG [auT/~siisar.
(37) ARATIT b 30T Hed JRIT, 3ReHT 7T 3nidheha T Shes STaTd.
@) ARATT =T JT, R nfor Mihchd Jdav® HRdTd.
(@) TRATT HYAT IR hdes TR TR JAa0eh HRdTd.
R
1) 3, (2) 9,
(3) 7, F (4) TASUDT T

Which of the following statement/s is/are incorrect?

(a) India exports fruits and flowers to Europe, America and Africa.
(b) Indian companies invest in Europe, America and Africa.

(c) Investment in foreign countries by Indian companies is only in infrastructure sector.

Options:
(1) a, b (2) b, c
(3) a, (4) all of the above

4. SIPTTARIRROT IT TS 31eg YINIT hivTAT Fahi=l JATIST BIdl?

(37) ISR () AR

() & OEIRE]
©ISEEIE]

LRI

(1) 3T, &, <h, © (2) 3, 9, €

(3) A, T, 3,3 (4) TASUDT T
Globalisation, a broader term, includes which of the following factors?
(a) Social (b) Cultural

(c) Security (d) Economic

(e) Technology

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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Options:
(1) a,b,c,d (2) a, b, d
(3) a, b,d, e (4) all of the above

5. RATST UGN ARl IRST T 3?7
(37) RATHT IRt ATIoITHTS.
@) ARATHAT ST AR IATohIAT HATET 3Ted.

@) TRAT GRPIT ST FRATT I T Hdl URL3Nd Idd9[d FHard.
@) IRA T IS [aehaziies Ta=ad e,

q’eﬁ’q:
(1 A, 9 (2) A, 9,
(3) A, &, (4) TASUDT T

Why India needs foreign investment?

(a) For the development of India.

(b) There are limitations to domestic investment in India.

(c) Indian private companies are investing in foreign countries instead of India.

(d) Technology in India is still in a developing stage.

Options:
(1) a, b (2) a, b, ¢
(3) a, b, d (4) all of the above
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G5 AT JIgT TR TR i€t 39 A (1. 3. 6 o 10)

TR RISt H? TATIRYT TS 9T SHTAHITA FAOY FTATEROT, ST S A1
9Ar i g4, JRATET SgdiEr |IT SATIOTR 107, JTofT SATel. JaiaRoT Fors 97 aTdTaxve #7079,
Troft 3nfor ST EATd. SRR MEBIMT F9 Foiig (o7 [Hsiia M gt A4t

T o5l TATEROTETd HIT TSIl STl FoTeid 3T Uesl S aRad dT0Ta 2TEl AR

1972 TTH Wik BT I g AT AT gAaReT vgs gk diRediara sfdes

faeprer 3nfor qATaRu=T B Il AeUiEr [AER STARRISIT WRTaR el . T GREe
T B WA TATEROT ARET0T SO AT UROT gSgd SAOT0TATs! <211 WedTed <07 37for
ARSI 9T AT BT, 1983 HToT HIwh I SIRTdsh JATEaRoT SNfoT feprd ST Rema=T
hoil. (SCHSHEZ) IT R 1987 HTo! MIST ETS AR hal. T EASHE hdes IS
FIEMET AR a 2Ed [T qary efes dievard T

HIAZTTAT STEATHTET SATETAT SOTRT ghdl. AT URYedT g ArTToTeh-3NTde T agg SToTorRy
AT GITEROTET BT GO FRar=r Feheu=T THSET YUaT=T 2idT. ATgeRiay [aeziie I8
STOT IR IOTd Y ITeAT Tehiad YT Ja e Hiddsl AT90 gadle a1 IRy 3eE
2. & aRkwe 1992 WS Ratr T T

3t & S e e, Retafe, (1992) RaT v~y fohar 3ref Fie sr2ft a1 o=
Rfay 99 aRd. AuRveT AeEREr ARSI Jghrd AT SRugreT a9 gaTeRor 3oy

S\

Tt FT=T THAYUT [9=R FROGRITS! SISl hodTal YA heal. 2ATE, ITRT 0T gt
TR A 2002 TS ST T 37 FHSHAS! Tha 3. A, Wel2rd nfor STiaRrsa
qTAcSaIe RIATS! 2TEd [T € aid Hexdre & 318, § 33 . 2012 & 37 I Igh
AFET ZTEA R FSid g1 UehaT uRNe ddet Tot. et R + 20 fhar e e wfae
2012 3T HEIYS .

TSI JATOT GHTEROMAT TE=0TRT EHT Al 0 & AT, TAERONY HATGA= gl AR
JTEROMAET STaEeR A FEoT a0 § < HreRier gataReia Joredr IEor g qaiERor
AT ATEAT 3ATe. TATAROINT ITFATT I83T 8T SATSTeAT UG IR YT Hd T Yeld foerer
TRSTT AETIUATEAT §THAZ eSS T ol & e

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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Read the following Passage and answer the questions. (Q. no. 6 to 10)

What is the environment? It is everything that makes up our surroundings, the air we
breathe, the water that covers most of the earth's surface, the plants and animals around us,
and much more. It is the conditions in which a person, animal, or plant lives. The natural
environment consists of all living and non-living things occurring naturally. It would include soil,
rocks, atmosphere, air, water, and climate, etc. There is also the manmade environment. It is
considered as the part of the environment. This refers to such areas where man has transformed
landscapes such as urban settings and agricultural land conversion. The natural environment is
modified into a human environment.

The relationship between economic development and environmental degradation was first
placed on the international agenda in 1972, at the United Nations (UN) Conference on the
Human Environment, held in Stockholm. The main purpose of the conference was to encourage
and provide guidelines for the protection and improvement of human environment. In 1983 the
UN set up the World Commission on Environment and Development (Brundtland Commission).
The Report of the Commission (1987) put forward the concept of sustainable development as an
alternative approach to one based on economic growth.

The UN General Assembly called for the UN Conference on Environment and Development
(UNCED) as a follow up to the report of the Brundtland Commission. The goal of the summit was
to understand the concept of development that would support socio-economic development and
prevent the continued deterioration of the environment. It also aimed at creating a partnership
between the developing and the more industrialised countries to ensure a healthy future for the
planet. This summit was held at Rio in 1992.

The Rio de Janeiro Earth Summit (1992) also called the Rio Summit, the Rio Conference,
or the Earth Summit sought to create international cooperation on development issues. It tried
to raise public awareness on the need to integrate environment and development. In 2002 the
Earth Summit was held in Johannesburg with the goal of again bringing together leaders from
government, business and NGOs. Sustainable Development was recognised as the most important
goal for institutions at the national, regional and international levels. In 2012, the United Nations
Conference on Sustainable Development was again held in Rio, and is also commonly called
Rio+20 or Rio Earth Summit 2012.

The goal of environmental sustainability is to conserve natural resources and to develop
alternate sources of power while reducing pollution and harm to the environment. Environmental
sustainability is defined as responsible interaction with the environment to avoid depletion or
degradation of natural resources and allow for long-term environmental quality. The practice of
environmental sustainability helps to ensure that the needs of today's population are met without
jeopardizing the ability of future generations to meet their needs.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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A o

6. W9 g g FHsita METET FAAEET TaTaRema e Bdl 9 A8 21T 9P fohar i
o oC N N . b c c o
qREATd ShobedT WSBI=T FHTI3T YATIod aid ATel. & dTed-

(1) IO 9 32 (2) IOT AT ATe

(3) 3T I IR (4) IIAYUHI Tehal ATal

The environment consists of all living and non-living things but it does not include the

urban setting and agricultural land transformed by man. This statement is-
(1) Completely true (2) Completely false

(3) Partially true (4) None of the above

7. 1992 TSN WRSeAT N3N URTIET & WIS IGUHhI HIoTAT BdT?
(37) TIheIT2iTey T STTOT T JITd MY AT T TadlgT 9= Aiadsd Jee .
@) AHET TR TR0 0T AT RO FRUGRITST 3T TdTe <.
@) TARTR FATI FIET0T .
(€) TATEROTET BT IGOTRT SATOT ATAISTh MYeh TIehTeT gSg TOTURT [qehRATT Hehed]

TS 9T,

g

(1) 31, & Q 3’ T,

(3) 7, S (4) TAHUDT I

Which of the following was the goal of Rio summit held in 1992?

(a) Creating a partnership between the developing and more industrialised countries to

ensure the healthy future for the planet.
(b) To encourage the protection and improvement of human environment.
(c) To conserve the natural resources.

(d) To understand the concept of development for socio-economic development and to

prevent deterioration of the environment.

Options:
()a, b (2) a, b, d
3) a, d (4) all of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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8. WSIGUS aNT UM/~ 3.
@ e ey 3o gaTaRom=T =9 I Adle 99T [99UR U9 sicossh ey

YT MEATATH Hoal,
@) T MEATGIIAR AT TTRET=AT TFsi 3 [ShRIT=T ot EEHhoT Jievdrd 1T

@) IT FEATGIAR T IR TSt ATSTAT TUSHTAT IR U7 AT el Tuedi=A
SRS RTEOTAT SHAE! dgsiie o ol

W’T’Jz
(1) 31, 9 2) ®h &
(3) A, 9, F (4) TTYHT TR

Identify the correct statement/s from below.

(@) The relationship between economic development and environmental degradation was first
placed by Brundland commission in their report.

(b) The report put forward the concept of sustainable development as an alternative to
economic development.

(c) According to this report the sustainable development is to ensure that the needs of
today's population are met without jeopardizing the ability of future generations to meet

their needs.

Options:
(1) a, b (2) only b
(3) a, b, ¢ (4) none of the above

9. URTHIRT ANY Ve I
(1) =0T for gr=aT aTaRoT
(2) TSRO 8707
ORIECREETR]
(4) TATIRONT FTFAAT STOT GATIROT THIT HeATheT
Suggest a suitable title for the passage.
(1) Natural and human environment
(2) Environment protection
(3) Sustainable development

(4) Environmental sustainability and environmental impact assessment.
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10. WoHTAU! I TIa/4 NSET.
@0 2 T 3R FRaTziie i e AT Sy 3R

@) 2T (TR T MSTATATS! AR HIFAT! IR 3R,

LRI

(1) th 3

(2) ®th §

(3) FET SRR

(4) SRYSURT TN

Which of the following statement/s is/are correct?

(a) Sustainable development goals are applicable to developing and developed nations.
(b) International laws are necessary to achieve the sustainable development goals.
Options:

(1) Only a

(2) Only b

(3) Both a and b

(4) None of the above
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GI5I® 3ART I ATaR STRa W<t 9% an. (. 3. 11 T 15)

T S FHRTET0T AT UehT TWATER AIOTATEAT 3T SeATd 31, i SPITd. 9euT=aT 9T
EATHTT Tl 7S IgTe8T, UTa=iTesl, TRaTedl & ] aTd ShAT Id 3TRIATd. JTOT 70T T97q 3Tehd,
AR IEH IO T g I AT 3T BETd 3Ty, T AT SPId Ueh bRl SRl 3TE.
FHIMHYT H1F AT g, e AT B, a1 99 3ed. AToRA=AT SPTTd. 3T9ches M9 Shiofiasy,
EUTST H3AT AT ATV, TR hoseh SRAATT. HTE(Tehd el [AaRad-T aiecs i, HRremd st

o o o

T, STt FaReT Gd diqdis HOTaRr AT hoel IRAUTR.

FHIIT & IS (TG Il FHT Sheh 32, ITATST SPIOMRT 2(<hl 3TTad U<, WY d3
THATE TATIAT gl STEMNIREAT HediTgT TH Aehed-T ATHR |ASGT BRI, LT 0T
HEATET S ST AT, BT STATST 29T AMATIT R SH=d==T 9T 9TdeT. a7 TR
RIATT e TRIORT EETaT STANT ol AT, AT T SIieAT Sl 99 RiaArd oeaar g9
TR TS AT, T T3F SPUGIhedl TR heh 3AT TMOT T 3R W& SHHT qHSIS 38, 3730
ASITheh AHIaR NTOT TTAT IR SogT STUITHN ATTSIHAT THAT TR,

SPTTSES HIOTATAT ST HHSTd 2id, SoTdd 8l o AT SHT9Td. STRTeAT Uesdl- h ald
B, SO I, AT A JOTIH, THAGRI sRIoer a9 Jia=iayd ATl el T digd
T SIoTad 2. o Hied AR Hifed SRd &id Mo Sieardr MiEdr s Romer 3 8.

FHd Tk HedTd RIS OIS ol TGRS APl [IuREr T #ar sSHdT
THESUTTT AT ATIOT IHATIT 813 2Tehdl. HATHAT (AT HIOTRT 0T ATET ARATE YOTRT AT
STl AT IS He5al. HBTITHRIE HeoT, Tl JTHATOT JoT 2R AT HAT I,

AT AT MIHITIT ST 9doedl WHHT AT [SohedT Uiderardal fagiar
FRETAT W 3 & WA, UOT IT WHHT dxa=l o7 e i 398 <ard, i 7 et g
T Y UTT 3TEAn. IT=T 3T 3T ATel H, AHH hedT 2RI 9T FHdl. SAT hldld
Freror SnfoT Wt I WU HATET BT, ARSI Hed-eT FSIaRd 3% 30X HeEauardr uad
RIARIMT Shal. AT IT Heu-aR JedT (3T Bial. ThIAT ATIRTER feF TRUMAT Hed=i+ T dd
I 2T FeTes. a1 SHITd 9e0T=T 9eHiHT ST $ocdT SPIIe 9=, a3 91 SPIaedr ge]

FRUMNA e, & ST IS AT
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Read the following Passage and answer the questions. (Q. no. 11 to 15)

As humans went on to observe the world, they realized that things do not randomly occur. They
are related to one another. They often have a fixed sequence. For example: in our type of climatic
conditions; summer, monsoon and winter always arrive in the same order; water extinguishes fire
but evaporates when heated. Thus they sensed that there is an order in the world. The what and
how of existence of things is governed by certain laws. In the human world it is humans who
lay out the laws. Philosophers assumed that there must be someone who lays out the laws, the

system of the natural world too.

Perhaps the universe has been created by someone. The power it took to create the
universe must be tremendous, rather infinite. These postulations gradually led us to the idea of
‘God’. Ideas concerning human beings possible, fitting relationship to God laid the foundation
of religious thinking. Intellect was equally engaged along with imagination in this discourse.
Normally religious thinking put a lot of emphasis on faith. One was asked to have faith in the
otherworldly, supernatural power and in persons who were said to possess knowledge of the

nature of that power.

All that humans sensed or understood about the world found expression in manifold ways.
They also perceived beauty in worldly objects and events apart from their properties, co-relations.
The beauty fascinated them and inspired them to create beauty in response. From this emerged

music, dance, painting and several other art practices.

Art offers us the opportunity to indulge in life without being occupied with utility or
profitability. It delights both the creator and the appreciator. Along with the intellect and

imagination, creativity is essential for art.

Intellect is one of the faculties involved in the three aforementioned answers to questions
arising out of man’s curiosity about the world. But the answers provided by Philosophy and
Science are entirely based on human intellect. That does not mean imagination is thrown out
of the window here. Many thinkers used their imagination to find answers in the times when
observation and experimentation were severely limited. But here imagination was regulated by
intellect. Only the imaginations that stood the test of reason retained themselves in philosophical
thinking. One realized that events taking place in this world aren’t caused by otherworldly forces

but by other events in this world itself.
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11. SEHMET Id SPTY FRITIT AT HAETAT I S ATH?
(37) TSUT=AT Ge-TaT UhHSIZT TaeT 3Tl
@) ger 7 AR $a ged rdr.
(@) HIOTITT ST TS M g AT T9R shehad 3T,
@) FeTdie M99 g Y 78R hoe T,

lm‘rcr:
1 A, « 2) A, d,
(B)A{T, S (4) TAAUDT I

According to the author what did the human realize after observing the world?
(a) Things are related to one another.

(b) Things often have a fixed sequence.

(c) Humans have laid out the rules in the human world.

(d) Laws of nature are laid out by the humans.

Options:
(1) a, b (2) a, b, ¢
(3)a, b, d (4) all of the above

12. SSISUST T /A fiesar.
37 99 =TT Heds TRISRT Teal =T SUFRT He3T STrar.
@) a7 R Segas g9 ¥R Ju4Td Ao
@) fIg FEToT FROTRY dF YRS 9 AT TRAE ivTar e faeRiEr 99 Riaarm g

T,
T

(1) Fh 3 2) 3, &

(3) Fth & (4) TASUDT T

Identify correct statement/s from below.

(a) Intellect was equally engaged along with imagination in religious thinking.

(b) Religious thinking put a lot of emphasis on faith.

(c) The foundation of religious thinking was laid down by the study of tremendous and

infinite power which created the world.

Options:
(1) Only a (2) a, b
(3) only c (4) all of the above
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13. WSIGIH T ATTATST FHAT TR FROATE YT 3T Blel?
(37) $UX & Hhed T
@) STl 9% F gl
(@) AT BT T Tl

T
) A, 2) ®th &
3) 9, % 4) 3, 9, &

Which of the following inspired humans to develop the art?
(a) The concept of God
(b) Worldly objects and events

(c) Human intellect and imagination

Options:
(1) a, b (2) only b
(3) b, c 4) a, b, c

14. HITIR HgT ST ARl THH HLTTST?

(1) TERER (2) TRSITheh ZThiax
(3) g9 =aamaR (4) FHIaT

According to the religion, in whom we should have faith?

(1) On God (2) Supernatural powers
(3) Religious thinking (4) Humans

15. WSIGUSR 3T T9 U=/~ esdT.
(37) AT 30T [AAT AT ool B WRT U7 SRAAL. AT hedT ROIGT aTd T2l
@) AT dcd T W oI =eSr dam=m TR SRS 34T,
ERIRE
(1) th 37 (2) ®Bh &
(3) 3, Tl (4) IHURT ATET

Identify the statement/s from below which is/are not incorrect.

(a) by Philosophy and Science are entirely based on human intellect.There is no scope for
imagination.
(b) To retain in philosophical thinking, imaginations should have the support of reason.

Options:
(1) Only a (2) Only b
(3) Both a and b (4) None of the above
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GT5I& AT JIgd ATaR TR Jei<r 398 an. (. 3. 16 o 20)

AT G&aT W97 3T 2T, Sl 313 fohdl g 1fRacTd sed? it ofed of drer qodd
AT FEioT ETd 12 O G g HIvrd o fhdl sea? e wWuidies e
HedT JRIGT Alledid 3. T, 39, oS, Irg AT RT3l IAT d=Ferd A SId. ard
FHROT 3T, I AT I Hohaarea fehdT ST ITaTeT THTOTA BIOTm=T FSoTd A+ifas ST
ATHRIST Al TN AT AHSIA il A G2 GaHerdidl ShedT IRl aidl. dATarehi-l
AR AT TR IR d A Shoyl. U dieh aaer TRueiigsT o 2 T, ST, 31, ag
T g AT

ST IATAT & BlHeh 3T, Dl AT UTT [ohdl IR AEMAT Hg ANl IR 12T, HROT
FR [TETOTT & o= HRMIRIT 3 BidTd & Il Thoses 318, BIAgISIe ai 379] 37for
SATTRISTET Teh 3TU] f¥egT ITogreT 9] d9R ghal, U UToll & JHaed 319 2Tehd ATel. AT 379
A HaT I JoarT STt YA hodl ol Jehl=T 2raT 3TAT A &id ATl SR Jaasl 8
TheTT JehrdT AATel. TIAId HIBId, Hhacd JresodT M7 AW FRIGTOTAT S2ER oaaidl
TRT fohell AT T 3T IR 0T 21T Tgd. 9T & U dalHH IURIT hedes fastmmr
qedTe T Q3 8la 39 AT9ge! & [aERdT U= e,

difches TEM IRy, d= ‘TreT=aT Yozt fohdl Teeh SMMEd? a1 9T 30 Ueh, & [ohal 3+
IR T 37 3, & TAET 38, ATobd AT AT [hdl dayoTeHT [Qoedl Ia=id
TRIT Teh ddre, fodwadre, Aohdwdre I7 YhRES H3dl Id. ATV T gcohi<l &y
HTT AR AT TTAT T IARel SATdh THRTT [THISTT HdT o, IRdard TThedT AT

FeEr Teig fOT St 313l SvfaRr &edr 3. Heig v siifas, Sie o9 o) Seiars
STEIaRISRT Jd-aTe iRacel 3Td. ATeEforehd, Sifaq Tar g Siewy 318 fohar Jd=a=yq 37g
fehar STe 3mfoT < € Sl sifam I STed o vty difshaheSaT Ivadard. AWy Siedre, FRame
TIOT FTaTE 3_F A TETeS Regid Fraet 2T, I9TaTeaAT Aepdiaed ax ia S Teod
TS, T A [TURS SR U T THARY AT, AT IO 99 YA ST
RIRAR IR SUTd 9 IdTd.

TRAY TR ATdeh ST A1{Teh, Sl ThRAT S3FHE a9 IaT=ar Sees T
WEEIEES [Hdd ATChd. IS 2 e q@aIg AT Hdrd. IS Iraieh, oI, JEiT,
=T, 3N FET YA GEEE Bl A7, iaH AT WRUeEs AT SEl AdHe
ATed. WE RHFH STedlg WIHRUY IES 8 THHT 33 8. T8 I [wd SI€ 7orsl
A, HiTdsh TRUTd 3T MMOT AT TS Jd=are! Il i 3T STgdTg APTar. Stedral &
TEAT 3 axadTal AT 3T AxaHTaT SIdard ATal, ROl AT Sifay AamT=r HweE
YT AR 3. T, 3ifaq dai=T ST Thdlel 3o, d-r a9 dw STe W& 379,
3 ® Rregid AT,
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Read the following Passage and answer the questions. (Q. no. 16 to 20)

The philosophers wondered about various questions such as: what could be the number of
these substances that exist? Are the ones that exist, created from some fundamental substances?
What are these basic elements? How many are they in number? You are all aware of the five
basic elements discussed in Indian tradition. Earth, water, fire, air and ether are said to be the
five basic elements. That is because, it was believed that the material world is formed out of
the various combinations of the five basic elements in different proportions. Except Charavaka,
all other prominent Indian schools of philosophy had accepted the notion of five basic elements
(panchamahabhuta). The Charavakas admit the existence of four basic elements (earth, water, fire,
air) while they rejected ether. Even the ancient Greek philosopher Empedocles considered only
earth, water, fire and air as the basic elements.

Today, we are aware that these five or four elements cannot be regarded as the basic
elements. It is through scientific analysis, we have learnt how these elements originate. It is the
combination of two atoms of hydrogen and one atom of oxygen that form a molecule of water,
hence, water cannot be the basic element. However, this does not mean that the philosophical
attempts made in search of the basic elements were mistaken. The notion of ‘basic element’ is
not incorrect. In the prescientific period, it was difficult to find the exact number of the basic
elements merely on the basis of reason and general observations. Nevertheless, it should be
noted that this question discussed in philosophy paved the way for the scientific research in this
direction.

Logically speaking, the question ‘how many fundamental elements are there in the universe’?
can be obviously answered as one, two or many. Therefore, the answers given by different
philosophers or philosophical systems can be categorized into monism, dualism and pluralism.
Similarly, the possible answers to these questions regarding the nature of the elements can be
specifically classified. Everything that exists can be classified into living and non-living (animate
and inanimate). Inanimate objects are physical and material whereas in living beings we find
consciousness existing alongwith the matter. Accordingly; we get specific logical possibilities, either
the ultimate reality is material or spiritual or it is both material and spiritual. Consequently, three
different theories are formed: materialism, idealism and realism. The philosophical contemplations
in different traditions may slightly vary, but the questions posed by them often remain the same.
It is seen that the similar responses are put forth in unique ways by different traditions.

In Indian tradition, both the orthodox and heterodox schools of philosophy have reflected upon
the number and nature of the ultimate reality. Majority of the darshanas acknowledge pluralism.

These mainly include Charvaka, Jaina, Mimamsa, Nyaya and Vaisesika. However, they have some
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differences regarding the nature of the ultimate reality. Of all the main darshanas, Charvaka is
the only darshana that has accepted materialism. Materialism states that the fundamental nature
of the universe is material; that means it is non-conscious and physical. It also states that the
consciousness is a by-product of matter. In the history of philosophy it is observed that the
materialists are often pluralists. It implies that the number of the ultimate reality is more than
two. Nonetheless, the theory believes that the fundamental principles are material, no matter
what their number is.

16. WOHTHUS! Tr9g faur/4 sfresar,
(37) RATAG T 2T Gl HedT WhReT.
@) I i a=TH! IR A d &R
I
(1) th A (2) Bh &
(3) I, ¥ <=l (4) IS Thel ATar

Identify the correct statement/s from below.

(a) All Indian philosophies accepted the five basic elements.

(b) Ancient Greek philosophers accepted four basic elements.

Options:
(1) Only a (2) Only b
(3) Both a and b (4) None of the above

17. IR TEIONIT SMIITST BT FET 3Th?
(37) HEAT g AT J0TR ATE.
@) qoft & oS IR 3k AT

@) TEAHH SEATET I ST S TId o3l al gepraT Tegdl.

pIT
(1) 3, (2) 9, %
(3) T, & (4) TFURT TT

What we learnt from scientific analysis?

(a) The five elements can not be considered as basic elements.

(b) Water can not be a basic element.

(c) The philosophical attempts made in search of the basic elements were not mistaken.

Options:
(1) a, b (2) b, c
3) a, c (4) all of the above
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18. 3ifaw I &I 3me?

(1) Te&T ThaT Ja—a%=y (2) TS®ET MU <d=Iey
(3) 1 3ITOT 2 (4) SIS e

How the ultimate reality is?

(1) Material or spiritual (2) Material and spiritual
(3) 1 and 2 (4) None of the above

19. WSIGUR 3T TISS U=/~ AosaT.
(37 e 3MOT A1fedes Al JhReaT 3 3ifaq I s o Weear
TEH AAHE 3MTeBdTd.
@) 9 TEEE Sedle WIHRUR IEis & THAd I3 3R,
(@) STedral & 3% doadarerd THdrd.

W’T’Jz
1) 3T, (2) &, <
(3) 7, & (4) TNSUDT Thel ATar

Identify the statement/s which is/are not incorrect.

(a) both the orthodox and heterodox schools of philosophy have differences about the
number and nature of the ultimate reality.

(b) Of all the philosophies, Charvaka is the only philosophy that has accepted materialism.
(c) materialists are always pluralists.

Options:

(1) a, b (2) b, c

(3) a, (4) none of the above
20. FATHIATHT -

o

(3N 9T Joasy § 3TdT 9 Hide TR,
@) TSHYTT Ja=ATEl AT Bl

@) 3HTAH T T 3] 3hd ATel.

ERIEE
1 s, o (2) 9, %
(3) 7, & (4) TFURT TT

According to Charvaka -

(a) Fundamental nature of the world is non-conscious and physical.
(b) Consciousness is the by-product of matter.

(c) There can not be a single ultimate truth.

Options:
(1)a, b (2) b, c
(3) a, (4) all of the above
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G5 AT JTgd ATaY STIRA Wefi<r 9% an. (. 3. 21 o 25)

ATOfIETOT=AT HIBTT FAS AT Al JIGURd T ShildehRl 20 TGl HHd
ol - T TOTST 4297 GeATgHeT (1976). Te+dl a1€ BUaTTS ST eSS Td[w, o TS HLUARITST ol
FEATGHEIT shool Il AT uc-ﬂgeaeﬂ“l% hHT THMHE! - B T ATTHIAS - THHb b ded =
TEIRZT: UTSET b, AT TSAHTUh! Hlal Ia& 3 B : Ueh OIS HIT 4 T AT g7 hall ASAT
FATE. AT R ARTRST S d Hasd FRAST STed. d0d AT FFT 4 TWTSS ISTROT=

ARTE3h dwdie T dRrel o hEe R &R Idie, a7 hEdid GxeI0T, g
TSI FHTSTETal § GHRYST AT FATT FTHIE, FHHGT TeAgHerar ATTHR FAd AHS
T GeAGHwIAT AEMEe el b ARTESATHT FHAAT Tel Sadl AOTR ATel AT Haramg
MM AR 3 IR e 368 T oo gowdl d I8 ARBRIAT qord g
TRHRGT AT FTHMeT HI0L. AT TSAIGERATEaST & TIEIU g Ad Bl hl ARATAIS TSR
IRIAT AT ST AS[@T ho! e,

429 TEATGERAT ATATET FHT TATIARIT S (AT AT HATChIde THT HIS PRI
ATGHIHT AT STNTTAT AT ShosedT TSATRROTST TR (oo, AT a9 TRIAETe! g
ShheT SHIFEITEAT ST AT PR ISRHROT SRoard 31es 2. =t few T, gf=ee oifw gfear
et feRn) =7 afreha TfIhTeRaiel 4247 TeIgEwl SATIIATAT HeH 5597 J9deT LM
T, HoH 55 U5 TIVF 368 AT THAT AN Bl A5 HAGHAT TeHAIGEAT ATTHRIT
IS ST T aF ST ST (ST TR HeTaeT Faied el grdn. Fare s a T THAdH
ITTEE 368 T Thoves! FURVT I BT 9 I s i, ATGI TIRIAGRT d FeTgewdr
FEffed TR & gl YR d JRIse 31Ted, SUrams, hameds Eecdlyq T 956 8%
BTehd ATal, dl T8 ol SIS 2Thd ATeid PR JESddel 33de! SIS 3ehd ATeld. ~ATATSIT BoTor
AT dhiaR YRGS Bid. SR TEEIST ATTRR SdqT qaied Afvsr T se, d¥ ae
IMMYPR YT ATHT HASA SATURRI W™= FHATST ATIHRIT HdT TR ATer.

TarE AETeare el fedie Mo g Rafid $e 6 @ IREEl a9
TEHMATIATT TSI TARTTARATET [ShATT SSiT ST ereh. Bl Mexd § 2aed =araaq
Jeh_OT B, ST MO ge-aR JAa To9va Mauardr Feiferd vod Shol. W RGeSl
AT HHGIEl desle o HdT MRl Hod- HRATd FEGAM T o7 G ey T ge-dl
TS SBIEYEATAT AT Har" AT o ifaq 79 T SHIv Reafud o,

1951 W AT FLAET THES FeAd hedTaNT UehaX 284 HIAAT AT LA
T NHRETOT SUTA 37T, IHATATEAT ST Wheh STHIAT GHRUT ShIFETeT =ET0T 20T 31T AT ST
82T BT, O AT AT TIAT 3 3Tk HAS ed, AT STHIA JURNET BRT HHT A
TR, 3TEIOMY, THAMRING FATGICIST FE 1955, Bl PR UeT FHIGILIM Hhe 3faT 1976 T

S1U8E P TR (3TdTo3M) TFe 1976 § .
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Read the following Passage and answer the questions. (Q. no. 21 to 25)

During the Emergency, the Parliament passed the most controversial and revolutionary of
the constitutional amendment - the Constitution Forty-second Amendment, 1976. Enacted to
eliminate ‘impediments to the growth of the Constitution' ,the amendment virtually remoulded
the original Constitution through sweeping changes - substantive and symbolic - such as : the
insertion of Part IVA into the Constitution, which highlighted the 'fundamental duties' of citizens,
enabling the protection of any laws that gave effect to the directive principles under Article
IV of the Constitution, insertion of the expressions 'socialist' and 'secular' into the Preamble
to the Constitution, amendment of Article 368 nullifying the decision in Kesavananda that the
Parliament's amending power was subject to the 'basic structure' limitation, and strengthening
the position of the Central government vis-a-vis the state governments. This amendment was a
manifestation of India's distinct shift to the political left.

Within a couple of years of the Forty-second Amendment Act being passed, the owners of
a textile mill in Karnataka challenged the government's nationalization of their undertaking. The
mill was nationalized under a statute placed in the Ninth Schedule by the Parliament. In Minerva
Mills vs Union of India (Minerva Mills), the petitioners challenged the validity of Section 55 of
the Forty-second Amendment Act, which amended Article 368 to transform the Parliament's
amending power over the Constitution (which was limited by Kesavananda) into an unlimited
one. The Supreme Court unanimously struck down the amendments to Article 368, holding that
judicial review and a limited amending power were basic features of the Constitution, which,
according to the judgement in Kesavananda, could not be altered, destroyed or nullified. The
court's logic was simple - if a donee was vested with limited power, it could not be permitted to
exercise that very power and convert it into an unlimited one.

The Supreme Court's judgement in Minerva Mills established that from the perspective of
the basic structure doctrine, a minimum standard of judicial review was inviolate. Minerva Mills
was the last case in which the government made a concerted effort to establish parliamentary
supremacy over the Constitution. Having failed to scale back on the basic structure doctrine,
Minerva Mills marks the beginning of an era of judicial supremacy in India, with the Supreme
Court firmly entrenched as the final arbiter of constitutional interpretation in India.

Since the insertion of the Ninth Schedule into the Constitution in 1951, 284 statutes have
come under its protection. Although it was initially meant to protect land reform legislation,
the schedule now contains many statutes that have little to do with land reform - the Essential
Commodities Act 1955, the Levy Sugar Price Equalisation Fund Act, 1976 and the Bonded Labour
System (Abolition) Act, 1976 to cite a few examples.
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21. YEIGUhT HITHIOTAT TSI e IaramTed I ol 3Te?

(30) 4281 geATSEIN

@) TTT 368
() Tl ¥ 3, 90T 4, T 4 T

LRI
(1) 37 3mfor & (2) 37 3nfoT &
(3) T 30T F (4) ThUE T

Which of the following things are mentioned in the given passage?
(a) 42™ constitutional amendment.

(b) Article 368

(c) Part III, Part IV, Part IV A in the constitution

Options

(1) aand b (2) a and ¢

(3) b and c (4) all of the above
22. IR RATd TSI Jaxare g7 3% 10

(1) 429 GeTgSAT 1976

2) M= BT "ol
(3) HIEME TRAT WS

(4) TSAT 9IT 4 T =7 FHS2HA2

marks the beginning of an era of judicial supremacy in India.

(1) 42nd constitutional amendment, 1976
(2) Minerva Mills case
(3) Kesavananda Bharati case

(4) Introduction of part IV A in the constitution

23. WA [T hibsigae drar MOT I qaig Haer.

(30) 1951 T TTSAT LA TAT AATIZT G- hedTINIT Uehax 284 BT AT SRLAET!

AT TRETOT SUAT 3T,

@) AT I I STHI FURUTET Fefad HrRe 3.

pip)

(1) T RR, T IH 2) ¥ W, T IH
(3) ST fIa RIS (4) 2T fue =%

Read the following statements carefully and choose the correct option.
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(a) Since the insertion of the Ninth schedule into the constitution in 1951, 284 statutes have
come under its protection.
(b) This schedule contains statutes related to land reforms only.

Options
(1) a correct, b incorrect (2) b correct, a incorrect
(3) Both statements correct (4) Both statements incorrect

24. YRIGURT ST U HroTa?
(1) HIAAHE G AT FeAgewdl ATIHR FAIed ol gl
(2) 42T GEAIGEIHob TISAT TEATGHATAT FTIRRTT IG5 ST T af IFFANSd ST,

<

(3) =T e a7 Tihd IR dHT Ueadic hed 5597 IUdeT e .
ORI ERERIERCRERY

Which of the following statements is incorrect?

(1) Kesavanand case limited the parliament's amending power over the constitution.

(2) 42 constitutional amendment transformed the Parliament's amending power over the
constitution into an unlimited one.

(3) In Minerva Mills, the petitioners challenged the validity of article 55 in the constitution.
(4) All of the above statements are correct.

25. 427 UEAIGEIIe NGl TEHHH Jeledehl HaATHT AT Bar?
(37) TS qIT 4 A 9T iaHTa
@) UTEATIeRTd FHTSTATGE § SHARUeT a7 ST iayra
(@) AT TeAIgHwl ATIRR AATSd ST,

(@) g TXHR AR TRHIZMST heh .

epip

(1) 31, & 37T & (2) 31, ¥ AOT ©
(3) 9, % M7 S (4) TFURT T

Which of the following are included in the changes made by 42" amendment of the
constitution?

(a) insertion of part IV A into the constitution

(b) insertion of the expressions socialist and secular into the Preamble

(c) Parliament's amending power over the constitution was limited by it.

(d) Strengthened the position of the Central Government.

Options
(1) a, b and ¢ (2) a, b and d
(3) b,cand d (4) all of the above
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T . 26 T 30 : WTHG IART AT ATARISG TAEN 96T AL .
TR TehT RIMTER g o o TeAT aR¥ITe! TheH 3T¥d. U $ocdrel g
I TR SUIa% ATSART, THIT Jo5d SITHHER JIRrEard. Aid aegd = a3 o]
IOTHTET HIATTHIEAR TR B ATl 3R TS AT ohl, I3 o531+ AR T, 1590 TeH

A MG YIAT AT IERTT Teh TANT hosl. S ITRTeAT aRGAMT s e TehosedT
AR TH o3 @Tosl A dR o Tahld dobdd SIHATER 98dTd & o $Teh.

MYUT Teh S€ TS AMOT Uk G SR JIGe Uk 967 Fiess d¥ o T
Jo53T SIAATER Frerad T ford e, ORI ga2i 2 sRIehedT 9yvTHes d Ugh &rom=r
9% FGHS U aUTd ghge Elol Id d SIH-EY I2RT Jigrad. a9 Ut EoTR
I TTSIAT JSHIET GT AT AT T PTSIAT Iy TROMH HI0a HHl T, T
AT & 90T Hardrd el 3R 018 30T URT Sl TehId Jobsd SIHHIaR. arghedid
T Rrg oo Ime.

TSI IO IS AT 2T qMOR Tl F IRgA AT arl Tt el
TERT 9o 999 ® kg A RUTST SRAMTSAT Ushehld HisTdl, U Sl 99T rsiaer
I 75 kg MM’ 3 FTAT 9N FOTAr =T YT [siia< Iogd= ARTT 3TTal. 75 kg
TIIAMTER S19e [/ 965 Wt Bl dae AS[e JoT 318 3T STIcATaT SITSod 3T,
TSt AN 75 kg AT TAER AT Fs1 F =mg= 75 x 9.8 = 735 N 3¥(d. 1 kg
TRIATE TS 1 x 9.8 = 9.8 N 3Td.

TETd AT U= YRAT T ST S5 TRIST AT d 3. Tl [hT=aTa=ics
THSTAT UM ITaes! feaaras A wiead S 99T aed T AT e, ST
RYMER WAl T SEerdl 965 STTedl 3-Ad. THEAT Tvdral ITdeel el &g
ATHTMMHS e,

W P;%ﬁ' (Gravitational waves)
qIogTd I SThodTaR AR &l HETvT gidid, 9 TaT ST el alch O3ae
BT Sg<l [AHIT BT & dWl Uliees STIGd. Uehlel 81 S8@le Ush YehRdT aiT 31Te.

AT TRIAgadd AT 39 ToTad. G 9% & a7 3creid hdld d SI9T TIe]
JYHRUNE T TE0T HRdl. [THETESdT FYOT Agdl IS T BERGRT HATHo)

3TE.

TEAT HE<l AT 3PTET AT YHRAT Hel ARd. AT TR FIBEAUSG Hasl
I e AR, ATSAT AR FHIAT IEAETEAT 1916 T TAacl gial. &l Fesl |q
&I0T A FHT 30T GT HIOT . NS TGAYT Scedtord ST I[Hedd
BT ITIUIRITST 2T 3T HAGA2® TR0 [AhRId ol 3ed. A LIGO
(Laser Interferometric Gravitational Waves Observatory) & B EE) TR, IMASAAT AT 2016
T MERCTETAT AIfhaMaR aRIEX 100 TN EINGT AATARIT 0T [SHATT HEil
TN STIAT L. AT MU TRATT AT SO ARSI 3T, AT ey =iy wfadr
oo Teh A4 A6 GaT ST 318,
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Read the following passage and answer the questions from 26 to 30.

The value of g is the same for all objects at a given place on the earth. Thus, two
objects, irrespective of their masses or any other properties, when dropped from same
height and falling freely will reach the earth at the same time. Galileo is said to have
performed an experiment around 1590 in the Italian city of Pisa. He dropped spheres of
different masses from the leaning tower of Pisa to demonstrate that the spheres reached
the ground at the same time.

When we drop a feather and a heavy stone at the same time from a height, they
do not reach the earth at the same time. The feather experiences a buoyant force and
frictional force due to air and therefore floats and reaches the ground slowly, later than
the heavy stone. The buoyant and frictional forces on the stone are much less than the
weight of the stone and does not affect the speed of the stone much. Recently scientists
performed this experiment in vacuum and showed that the feather and stone indeed reach
the earth at the same time.

Colloquially we use weight for both mass and weight and measure the weight in
kilograms which is the unit of mass. But in scientific language when we say that Rajeev's
weight is 75 kg, we are talking about Rajeev's mass. What we mean is that Rajeev's weight
is equal to the gravitational force on 75 kg mass. As Rajeev's mass is 75 kg. weight on
earth is F = mg = 75 x 9.8 = 735 N. The weight of 1 kg mass is 1 x 9.8 = 9.8 N.

You must be knowing about the high and low tides that occur regularly in the sea.
The level of sea water at any given location along at regular intervals. High and low tides
occur at different times at different places. The level of water in the sea changes because
of the gravitational force exerted by the moon.

Gravitational waves

Waves are created on the surface of water when we drop a stone into it. Similarly
you must have seen the waves generated on a string when both its ends are held in hand
and it is shaken. Light is also a type of wave called the electromagnetic wave. Astronomical
objects emit these waves and we receive them using our instruments. All our knowledge
about the universe has been obtained through these waves.

Gravitational waves are a very different type of waves. They have been called the
waves on the fabric of space-time. Einsteine predicted their existence in 1916. These
waves are very weak and it is very difficult to detect them. Scientists have constructed
extremely sensitive instruments to detect the gravitational waves emitted by astronomical
sources. Among these, LIGO (Laser Interferometric Gravitational Wave Observatory) is the
prominent one. Exactly after hundred years of their prediction, scientists detected these
waves coming from an astronomical source. Indian scientists have contributed significantly
in this discovery. This discovery has opened a new path to information about the Universe.
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26. ST TTIOT TETATT T 45 Tha3 R 38 3T FEOTAT d=gT i<l IR TTOT Jdfaeh goi

3TIohH Tohdll TRACI?
(1) 45 N 371foT 450 f3r (2) 45 N 37IfoT 441 f&3r
(3) 45 {3 3mfoT 441 N (4) TAHURT Tehgl -TTeT

When we say someone's weight is 45 kg what is their mass and actual weight
respectively ?

(1) 45 N and 450 kg (2) 45 N and 441 kg

(3) 45 kg and 441 N (4) None of the above

27. I {9/ ST,

(37) IITTeAT [SHTON T ST el o fErer Jard.

@) T TSTAT THATHRYT IRAIS T BraTd.

() TIETAT IToTEl ITdesl [QadTds el 98

(1) ™h 3T 3MOT § (2) <h & 0T &
(3) Wh 37 AMOT & (4) TAFURT T

Identify the correct statement/s.

(a) High and low tides occur at the same time at different places.
(b) They are affected by the gravitational force exerted by the moon.
(c) The level of sea water changes twice a day

(1) Only a and b (2) Only b and c

(3) Only a and c (4) All of the above

28.  TORATEIT HHSAT HART HIVTAT 20T TR?

(1) ¥

(2) R4

(3) gTO

(4) 3

The leaning tower of Pisa is located in which country ?
(1) Spain

(2) India

(3) Italy

(4) Greece
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29.  URT SIEFIER SITSTIET B il Ararad?
(1) TTEIEAT TUTaR [SThYUT SR T .
(2) EAT Gk SAOT T T,
(3) FROT T[S 5T ATE.
(4) SHROT U JTSTUET Eoheh A,

Why does the feather reach the ground slower than the stone ?

(1) The gravity acts more heavily on the feather than the stone.
(2) Due to the buoyant and frictional force of the air.
(3) Because the stone is heavy.

(4) Because the feather is lighter than the stone.

30.  HAT FERITES GAAUh! HioTdl [Tam T e
(37) T GU &7 3R T 30T FHAToT 3R,
@) ST 1619 A ATAT ARAQT™T STl Tagel gl
@) LIGO % IT Fg< 3MYvITaTel d9TuRe SO STl e,
(1) %h 37 3NoT §
(2) Th & 3T &
(3) WTh 3T A1fOT &
(4) YR AT

Which of the following statements about the Gravitational waves are true?

(a) They are very weak and difficult to detect.

(b) Einstein predicted their existence in 1619.

(c) LIGO is the instrument used to detect the waves.
(1) Only a and b

(2) Only b and c

(3) Only a and ¢

(4) All of the above
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T 3. 31 O 35 : Wlooley IART AT IS T 909 39X 4T,

o oo hd o o 2
hIUTATel ITHAET URTE HIT (Shoot System) UhlRT IeIATH UTdHIS éﬁ R Ulsld

ehTeT AT ez A=t a1e gid. SRudiFT SraaeeT AT BGaTeRT ThrEadl 2lears
(Phototropic movement) 3T TUTATd.

FAIAET o5 TRAT (Root System) THcaTHYT T UToft A1 3feo=iar wfae 2. 4T
PIGRICE di-j)s?hﬁl gb«iljcicﬁ (Gravitropic Movement) 9 F‘IFfﬂﬂTvlTﬁ (Hydrotropic movement)
I . AR O Koo Tiiere |UE aHeIdreT Rl Aol Siaars
TI-3FdT (Chemotropism) 3T TEUTAT. 3aT. Sisfierem {2 BRI WREMTGHHT
e, WS T THRSAT AT T TR el Jdfad e M AT SSaTes -0
TAIAALS Tesl AGH STHATHN 3™ FOTATe.

TRBTZ TR SRIAT BISTEIATREAT TR ST [SehIolr Tzt grdr, 2T feswromafats
TR TSemofiEr erernes 2. Arawee ST 319 AT Shig 2[ehal i TT2T ST ATE & Jifgar
TN Ut [SHTOTET AT [Shroft yaTiRe el AT diiest. & Hifedl Tehl fSehromg
=T [T ITaavarATdl el [Sed-IATa e A=l ITART HIaTd. ITdr 93l
I ATAS AToT JHTOT SHAT ST heed FTBT AThHR TEGATd J IATd=l BIGars degH
SATOTAT.

Jeal TG BSATH 3T T, MadTGoT TRIRTANG SeaiT UlaviTe RV I udidis
TURS TS AT R 2GdaTsl 98g AToTdTd.

AET TR Ui Josf [Ofaer TopaT 9§ dd 3™IdTd. T fohaid 399 U&R d

JROTHHRGBRAT FHIT T [HE=0T o TS 3. T S IR heh ST
FATIRIT - ZRIRTT UHT [SHIOTART AT [SHhToft Fazraer= & H=om=Ar &2 yehre=r
U3HET Iarasit (Neurons) 3T BUTATd. a4t IT HFET IS die IS 9 HEATHS
qadh 3ed. HIaT 2RI 3TRR TdTd AlSAT AHOT=IT IATdsi=T Sial il Hreadd 9¥=d.
Jargiiaet fagd I T FEioT SRt T 98 SRl S Har ST, <dTasiaT
TYR SUMT T ATeAT HaTd Aed HROM=T YT I (Neuroglia) 3T FOTATd. <dTd=i
3NTOT ST IiAT FETA =T (Nerves) S=dTd.
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Read the following passage and answer the questions from 31 to 35.

The shoot system of any plant responds to the light stimulus i.e. it grows towards
the source of light. The movement shown by plants towards the source of light is called

'Phototropic movement'.

The root system of plants responds to stimuli like gravitation and water. These

responses are called 'gravitropic movement' and 'hydrotropic movement respectively.

Movement shown by plants in response to specific chemicals is called chemotropic

movement. For exmaple, the growth of the pollen tube towards the ovule.

All the above-mentioned movements of plants are related with growth; hence all

such movements are collectively called growth relevant movements".

On careful observation it is seen that in plants like touch-me-not (Mimosa),
movement also accurs at the places other than where It has been touched. Hence, we can
infer that the information about the touch must have been relayed within the plant from
one place to another. Plants use electro chemical Impulses for transfer of information from
one place to another. Plant cells change their shape by increasing or decreasing their water

content and thereby bring about the movements of plants.

Some specific movements of the plants do not lead to the plant's growth. Such
movements are called 'growth Irrelevant movements'. As a response to changes in the

surroundings, plant hormones bring about various movements in plants.

Neurons (Nerve cells) : Special types of cells which conduct impulses from one place to
another in the body are called neurons. Neurons are the structural and fuctional units of
the nervous system. Nerve cells, the largest cells in the human body, may measure up to a
few meters in length. Nerve cells have the ability to generate and conduct electro chemical
impulses. The cells that support the nerve cells and help in their functioning are called

neuroglia. Nerve cells and neuroglial cells together from the nerves.

31. AT 3SRRTAIS Jaid &g U3 ST 3me?

(1) Sarasht (2) TS

(3) T (4) TAGUST HIERT TRl
Which is the longest cell in the human body ?

(1) Neuron (2) Neuroglia

(3) Skin cells (4) None of the above
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32. ST ST MR HAT TS3ATd?
(1) TR AR ST ITANT o]

(2) AFATAIG IT9gT= YHTIT dTeqT fohal HHT et
o sghvara ai h

(4) TN TTAT ATHR Fgg 3Tehd ATl

How do plants change their shape ?

(1) By using electrochemical impulses

(2) By increasing or decreasing their water content
(3) By absorbing sunlight

(4) Plants can not change their shape

33. AT BT T?

(1) =g SAITOT Sard=ir (2) Iardsit snfor <arasT

(3) STsr SATOT Feharear Uit (4) S9N IO Sfgw Uit

What forms a Nerve?

(1) Neurons and nerve cells (2) Nerve cells and neuroglial cells
(3) Neuroglial and hepatic cells (4) Nerve cells and somatic cells

34,  SISferdT aH WPFGHH 9% ... 3MTe.

(1) ThTRITadT BleaTs (2) THATAAT BTHATS

(3) IARETAT ETHATS (4) STAHTAT BSTS
Growth of the pollen tube towards the ovule is........

(1) Phototropic Movement (2) Gravitropic Movement
(3) Chemotropic Movement (4) Hydrotropic Movement

35.  WSISUIDI HIoTd THUSNT WO ITEd?

CIEICED @) T Refoes
) RHEREA

(1) &eh 3T (2) th 3 MO §

(3) T 3T IAMOT & (4) ATIHRT TR

Which of the following are unicellular animals ?

(a) amoeba (b) entamoeba histolytica
(c) paramecium

(1) Only a (2) Only a and b

(3) Only a and c (4) None of the above
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A . 36 T 40 : THG IART AT ATARISG THAEN 96T AL 4.

HERTSIATGTH! THedT SHIE 3R, ATd ITTeAT e axics ASATT Tha JTIToIT= T
dqThe 3. WA 3zl BT ST T &Y T 3T The A0S Ioh, IARX WRATT (.
g, e TdHd [BEN 5T & ISR Jegdi™ 3a9 381830 2id. MY Somd
TSITIATRIAT & Uegd STOTET BT 33T 3N AT s™fReT, smefies, aferyent T YRa
TR AIS 23T 3.

TSIl Jd SPTd SERTSITAT SIRTeAT ThRiEl IRETS A9ed 90T AT Ushd
U 3 URRY RN, Alewer] A W 38R T FSIRIATRIAT HaRTSATd! Sehed T Aigo!
g, ST AT IR HORTSai-l Hgth TSTaaTehidl shed=T Aige! gl 9T Ard
UTHE AP BAHT g ARBR JSHIGT Sad 30T df HeddT aidl. HRAr Isgde-d
RIcThR TR Eghs AT T [TLT BT i, AP, Ti2h T A6D QT
FTAATTE! THTHAT STASAT ST ST STRT Il FHIOT IsTd TAHSIIS d<l HRATS
TORIIATE & UHE IS 3E. UTed STaTerars Jg%, IReR dg¥E Ue® d 3% s
TR AT HehoU-@T AT [SdeT BT, TS A 7S 9976 Bl AT [QAehalheoT
TS UITeST 3FTE G UTdesl9ad 3MTUHR HeaTe igsia 9 i 9d &,

SIITARIRR OIS HORTSIATETeAT JeheUwaR AIST RV ST 3R SIS 3T
T TP THTH TS ATed. MaT ASTehid T MU 2AT AT WTATHT HATET 9T 2Tehd
ATErd. AT BIh3Mel JAAT FIEEM HHGIT T, T TAT ThAdT ITUTHS TSI dIg
TEOTATd. AT UTal2lh ARPRe! JdaUhiaTel a2l TT9T Fdld, Hiedd Moaauardr,
IS Fae Moaauarars! g ¥q9T 314, YRATdI® SusIdle g TehRids Tursadie
3. T Tk AMYH FEATd hel ASATIS The RS Bld Aol AT, hds TRITHS
fYameR 9= e 79iied MEAT R, FEhRIAS HURTSIdTeld SIed hiEe SR 39
ART 3R, URq ATd <37 AT AheI-GTel Alehes ATel. erdiee I a3 TUHd 3de &rd.
T AR YT qedTe dieg 318,

G HORTSIATE & AIhaMerdr Ul ST ORI T Hob Wihas WeTquTRT 3Tl
T o fAfadan, aRefas Afaw, i g aifie [Rfayar o= asde 3 9y
TRFATAT ARAQTAT GO IR, IRATAT FTdld HARISIaTGr= Hehed= T & Iraq
ST DA 3R,

RIqd =T Tded [SBEr T 3 & S USTearsd gl 7 HUPIR Jrar
TS IRATHS FaT 2l [ USRIaredis 3+ Jediay dIeadrg gid 3d. T
HORTATAIG FehHlgl THMGE 6 gde Sils. el 2T HIAPIR G- hes deal o ard
T Bl AGMET T AT A0 AT IOTETeHTaST 2R T HifosdT FA<aTd a8
IO ST ST, MR FSHTAT HHISTST A AT TR Hifosd2l Jog HITST &9 aid
U7 R et ORI hesl T AT WITaR 9T ST HASHT Gl RKiegTareT Frdr
URATTET UTSTd ST T AT [SSTaTaTd ST STy, a8l TSR] el A Higo! T
de ASTUIATS! TR JTYR HRIET SITAT 3T TN 8T a7 IRqUTS 9T [T, TSIradieh
T HAeheq=dT df FTard TSl 3T+ 3T AFT SrEadT 3TTe.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



33 TR HES TRAR

Read the following passage and answer the questions from 36 to 40.

The idea of federalism as an organising principle between different levels of a
state is quite old. Greek city states had it. Lichchavi kingdom of northern India In the
6th century BC is a celebrated example of a republican system. In the modern world, this
continues to be the most popular system in larger countries like US, Brazil, Mexico and
India.

Scholars have noted that there is a "federalist ferment' across the world but
there is no single model of federalism. While Montesquieu talked about the 'confederate
republic constituted by sovereign city states', federalists like James Madison pleaded the
case for a 'compound republic' with an 'overarching central government that can override
against narrow local interests'. The architect of Indian Constitution, Baba Saheb Ambedkar
believed that for a culturally, ethnically and linguistically diverse and heterogeneous
country like India, federalism was the 'chief mark’', though with a strong unitary bias. This
understanding, which was shared by Pt. Jawaharlal Nehru, Sardar Patel and other national
leaders stood at sharp variance with Gandhi's idea of federalism who was a votary of
decentralisation and devolution of power to the lowest unit of Panchayat.

Globalisation has also deeply Impacted the concept of federalism. As the countries
of the world become more and more tightly integrated, the external influence of powerful
financial and political entities tends to limit the freedom of action on the part of states. It
is often reflected in the weakening of public institutions. This process has also generated
a phase of competitive federalism' where provincial governments compete with the centre
to attract Investment, garner capital and technology for their benefit. India, on the other
hand, has taken forward the path of cooperative federalism by gradually loosening the
control of the central government over the states in financial matters and restricting itself
more and more to policy issues in certain areas only. It can be argued that cooperative
federalism could be the path to make best use of the different advantages of the magnitude
and littleness of nations as Tocqueville had once remarked.

It is important to underline that federalism, in it's true sense, can be successful
only by broadening the base of democracy and deepening its roots. In the case of India, a
deep respect for diversity of languages, cultures, ethnicity and religion as hallmarks of its
political and civilizational existence could nourish federalism and strengthen the nation. It
is the only way India could take forward its great tradition of federalism which goes back
to the time of Buddha.

Let us end with a story. Around 5 century BC, the republican states of Lichchavi
and Sakya had an institutional system called Santhagara which was used to debate issues
of vital importance to the republic, including disputes between various constituents of

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



34 T Heh IRaR

the republic. Buddha was initiated into the Sakya Santhagara at the age of 20. When he
was 28, there was a dispute over sharing of water of Rohini river between the Sakyas and
Koliyas. The Sakya military commander was in favour of war on Koliyas which Siddhartha
opposed. But the peace proposal of Siddhartha was defeated miserably during voting,
Siddhartha had to face exile. Buddha may have been defeated and exiled but the idea of
the republic and settling of disputes without the use of force has survived. The republican

spirit has survived as a guiding spirit for nations.

36. WSS [TUHTIHT hre farT st

(37) HARTSHATETT Shed-T GJ ST 3T,

@) ARAT ARG Hhed T & T < HlBdieh 3TE.

@) . 4. TEE Trde e 5T 7 USRI Ggdre 9T id.
(1) Weh 371 3NfoT § (2) Th & MO &
(3) Hh 3T 30T & (4) Tehgl ATar

Identify the incorrect statement from the following statements.

(a) The idea of federalism is very old.

(b) The concept of Indian federalism dates back to the time of Buddha.
(c) In the sixth century BC, Lichhavi was a republic.

(1) Only a and b (2) Only b and c

(3) Only a and ¢ (4) None of the above

37. IV JERTSIARITET 3G TSR IATANTH Hosahl 3e?
(1) AR

(2) STAETATRT FTgH
(3) I Tosk
(4) ST HieHT

Which federalist is mentioned in this passage?

(1) Montesquieu
(2) Dr.Babasaheb Ambedkar
(3) Gautama Buddha

(4) James Madison
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38,  WUTHS HURST IS AT AT g

(37 TR SRR dFAE BT MEauarara! Ty SR TTUT T,
@) TR IRAN Jiede; HSTUTHATS! heT3ll ST hdrd.

(1) ®Bh & (2) WTh 3T 3MOT §

(3) Th 3T 0T & (4) Th 3T, F AT &
What is included in competitive federalism?

(a) Provincial governments compete with the central government for the benefits of
technology.

(b) Provincial governments compete with the Centre for capital.

(c) Provincial governments compete with the central government for investment.

(1) Only c (2) Only a and b

(3) Only a and ¢ (4) Only a, b and c.

39.  WISIAUh! HIolT AT Sha o aifcaT gl ardr?
(1) UTed STATERAIS 185
(2) IRER TGHITE T2
(3) S.ITETATRT dSH
(4) IS
Which of the following supported decentralization of power?
(1) Pandit Jawaharlal Nehru
(2) Sardar Vallabhbhai Patel
(3) Dr. Babasaheb Ambedkar
(4) Gandhiji

40.  HIUTAT AT ONAEUTIS HIOTAT SF TSI s are [HHioT e grar

(1) gl =<, fosr anfor zme

(2) FRIAT T, 3MeRT 3TTOT Hifesar

(3) TR T, 2T (0T Hifesar

(4) FFEIAT TaT,fovsTdT STfoT 3TerRT

Which of these two republics had a dispute over the sharing of water from which river?
(1) Rohini River, Lichchavi and Sakya

(2) Lumbini River, Sakya and Koliya

(3) Rohini river, Sakya and Koliya
(4) Lumbini river, Lichchavi and Sakya
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A . 41 @ 45 : WIS IART IT ATIR TS T I AT,

SATAT 37T PTTeAT ThRAT HAERTENTE TR0 3ET0 S STOTdTd. o 19T TS
AATAT 91T, AR 9T THSG dX HH T [hal A H MRS 0T Fehes =, I
ATOTE! THhT IITERT THIET IATd, I & SR & AT AT 9T AUIRT gl S8R
qrerd, STAT HHART Sk [TUTT 3!, 9T AT Uishad SURTYET FT= | 31T dred.
faf2rs wHi=ar AT TERTT U 20T YRTY USe 3T AT eI IWUd S1RId. AT S
TURE! AT TARIAIS TRIBARID TINGIAIS FehiaR e ST JTieThi AT GIedl g il
Thadl. 3 HATAT TFSll YT e adl. HAER HRAMT TEIET 318 AN-Ye A, WR
GIAHER ST a<l AT [uRia aRom| 9g 3Mhdid. A8ee 8 $9% e Mgl
HITYS® 3TYVT hosehl TR AT AR g Hedl. & TR HIGT=T AfgaT 38, 9rEnEm
FTErel HOT 2 0T B,

THTATE AT TEHTd TETTAT AT THUTT SARAT STATheh &, 3T T 3[ehd. SHTETS
AT STROMETS F=AT dia AT 3 SIevEE HiE ARl Sievneser [9de I oee
FAATTT THT WiE THUTRIT o] 0T STAT. HLRPIN ShivTTel TREGIAS AT RRe
e KT Bid. SEFITURAY AT TATHTS STTHNUT Bid. Sigias IreHn; av
RO Uehed Widdes. 3PTel AT f9eres T ot A $osr =1 3Terll” ™Y
EUTAT 19 goh. ATd URd, I AT BTl GRT0T Toiar | et Shrdr fed 9= 1> #F df gt
g 28| Ry S HE | P

T Aidgodd ®AdY TTEodd o, o qhlaidl e Tel, AThgT SIS
FIE HBIAT U, TME0INT HewT gonl| HelaTe s Fahr|1° aSies Agrarei< J=
UTH e dogTaT T Al ST ATISHR TgdT; T qehidiHed AT AT Heg 2Theh F
T TATHTAS ILAT UTARIER Uy Fhedl. e ATasiesl T IR 3ed. Jeig I
2T, IMSAT STTaeehs IiHT STCTaTS AT MY 399 HATe shes AT, [O3IY BUTS, TieAr 379Td
Ileg TS FFATHT TIRI AHE IUYEET AFAEE TG AR, TH N FTEroare
FHeUaY EGT TSAUMRT & el THITOTHATAT FADIAIS IRHET AT F TAZNEH THSIAS
IR IR SXST Bl

qEUEeY He@d ARTEH BUTsl, JhEd Agd AT U3, ATl JoaATI"THS
AIBE HeeeT U1, JRIFTAT THIAT AT “THRIT IS 3T FUTATd. TTAT 3THT AT HAIRE
IS, AR T ST HAGE Y SRUMRY, SRS arel sk W Aiefyer. qermg
TS AT 7| ATSAT Srehid AISST| I” & AT Uhl G Il T ST,

STRUTETEAT HIT@Ta Thalel geohlad [Sol; A T Jaoe STHIT § geplarer
TR FERARIRROT T2, WTel TSR0 qehlaishg T ohes Hg AT AiSes ATad. SieUTaTS=aT
MY AT HedT2ET enlardl AT Yot areel, 3T =ordT Id el F gohRM Mo e
g, TSt URTEE 3R, ST Hel9 R gRae.
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41, ST HEMRATY AEEEr 39T 39 URee TGT e, IraT 3T e
(37) AT T hedT2TaT HETHIRd FHSTd Tal.
@) & Jere aREE AHsies ST,
(@) AT HETRA aRAd AHSTIAT Hed 2.
(1) TS IT
(2) Bth T T
(3) ®Th &
4) Fh AT H

42. WS IRBATST TIATHURT HIOTd I AT 32 o el

(1) 2TTSTIS HAULT AT AE 3TE.
(2) AP Bl ATEAER HATd SR [T4RT ST,
(3) TATT ATHg AT SIS I AATar

(4) TSR ATRT

43, SHETETE AT IR HIOT?
(1) | AT
(2) AT THRH
(3) Id AL
(4) TTAhRT ATET

44.  GTHHUST BT I IRUTETS T AThAENES I AT8l?

(1) FreT O_T 39T ATeRg=sT JTad 9.

(2) TATAT HISTT JaMET TRTT RFIHT FH=ar I 9.
(3) T Sieg AT esT THRTAS

(4) IRHET TT T 3T I9T I1 I [99R IR 3.

45, SR Tegdlax gl 3T 3g% UR<Sald 3ME. ITdT W&y & 3e?
(1) STRIT=AT faRramale RaRERel Jigor
(2) STHTER TR AT W AThRY
(3) TIRTH FHTSTET R0 TaR&o
(4) ATHT ATET
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Read the following passage and answer the questions from 46 to 50

Youth is the transition from play to work, from dependence on the family to dependence
on one's self. it is little anarchic and egotistic, because in the family its every whim or want
was favored by unstinting parental love. Passing into the world, youth, petted for years and
now for the first time free, drinks in the deep delight of liberty and advances to conquer
and remold the universe.

Good oratory, said Demosthenes, is characterized by three points - action, action, and
action, but he might have said it just as well of youth. Youth is as confident and improvident
as a god, It loves excitement and adventure more than food. It loves the superlative, the
exaggerated, the limitless, because it has abounding energy and frets to liberate its strength
It loves new and dangerous things; a man is as young as the risks he takes.

Is bears law and order grudgingly. It is asked to be quiet when noise is the vital
medium of youth; it is asked to be passive when it longs for action; it is asked to be sober
and judicious when its very blood makes youth "a continuous intoxication." It is the age of
abandon, and its motto, undelphianty is Planta agan-"Everything in excess." It is never tired;
it lives in the present, regrets no yesterdays, and dreads no morrows; it climbs buoyantly a
hill whose summit conceals the other side. It is the age of sharp sensation and experience is
not soured yet with repetition and disillusionment, to have sensation at all is then a sweet
and glorious thing. Every moment is loved for itself, and the world is accepted as an esthetic
spectacle, something to be absorbed and enjoyed something of which one may write verses,
and for which one say thank the stars.

Happiness is the free play of the instincts, and so is youth. For the majority of us it
is the only period of life in which we live; most men of forty are but a reminiscence, the
burnt-out ashes of what was once a flame. The tragedy of Life is that it gives wisdom only
when it has stolen youth. Si jewenesse sustrit es vieillesse pouvait! — "If youth knew how,
and old age could."

Health lies in action, and so it graces youth. To be busy in the secret of grace, and
half de secret of content. Let us ask the gods not for possessions, bet for things to do
happiness is in making things rather than in consuming them. In Utopia, said Thoreau, each
would bald his own home; and then song would come back to the heart of man, as it comes
to the bird when it builds its nest. If we cannot build our homes,, we can at least walk and
throw and run; and we should never be so old as merely to watch games instead of playing
them. Let us play is as good as Let us pray, and the results are more assured.

Hence Youth is wise in preferring the athletic field to the classroom, and is rating
baseball above philosophy.
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46.  What is the most tragic part of life?
(1) Death
(2) Its a continuous intoxication
(3) Everything is excess in life
(4) It gives us wisdom when it has stolen youth

47.  Why asking the youth to be quiet is somewhat contradictory?

(1) Because youth loves excitement and adventure
(2) Because it loves the exaggerated and limitless
(3) Because noise is its vital medium

(4) Because its always loud and full of voice

48. ‘Buoyantly' means .......
(1) Vigorously

(2) Happily
(3) Continuously
(4) Repeatedly

49.  What is considered as the free play of instincts?

(a) youth

(b) happiness

(c) Health

(d) adventure

(1) Only a and b
(2) Only b and c
(3) Only a and ¢
(4) All of the above

50. How would you describe youth?
(a) it's anarchic and egoistic
(b) it's confident
(c) it is a transitionary phase between dependence on family to dependence on one's self
(d) a continuous intoxication
(1) only a, b and c (2) only b, ¢ ,and d
(3) only a, b and d (4) All of the above
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